

2nd 145 MHz Russian EME Contest results

Dear HAMs, colleagues and friends!

We are pleased to present you the results of the second 145 MHz Russian EME Contest held on August 15-16, 2020, which was organized by the Russian Amateur Radio Union (SRR).

More than 160 Radio Amateurs from 38 countries of five continents took part in the competition. Russia was represented by HAMs from the 20 regions of the country. Many stations worked from the field. All participants who sent reports will get certificates, the first 10 places will get awards and the winner will get the special trophy.

This year the "lunar" competitions have gained new participants including UA4FOZ, UA9YJM, UA4LCF, R3KBF, G0MTN, R2GKH, UR5MY, and others. These HAMs will receive special stickers on their certificates.

The organizers would like to highlight the participants who managed to make good results despite the small ERP of their stations: RA6C, UA9CCL, R2GKH, R4WR, UR5MY. These HAMs will also be awarded special stickers on their certificates.

We will be glad to see all of you in the third 145 MHz Russian EME Contest that will be held in the summer of 2021.

	Callsign	QSO	Mults	Total points	Ant	Pwr
1	RX1AS	135	58	7830	4x15XP	
2	UA3PTW	126	56	7056	8x15 CEW	1500
3	RA3EME	96	48	4608	14x15H/V RA3AQ	1000
4	R3PA	81	45	3645	4x14 DL6WU	1000
5	RC9J	76	39	2964	4x16H DJ9BV	700
6	OK1DIX	66	38	2508	8x28 cross yagi M2	2800
7	RK9Y	60	37	2220	4x3.5WL	300
8	I2FAK	47	37	1739	16x19LLY + 16X6 yagi	1500
9	G8RWG	51	32	1632		
10	IK2DDR	42	33	1386	4x19 LOG-LOOP-YAGI	
11	5B0EME	53	26	1378	2x11	
12	UA4AQL	41	28	1148	4x13 DJ9BV	800
13	UA4FOZ	34	24	816	4.5wl 17el H	800
14	RX8XR	33	24	792	4x17 (Cushcraft 17B2)	600
15	UA10EJ	34	21	714	1x14el (RA3AQ-14)	1000
16	HG5BMU	28	21	588	4x2wl Hpol yagi	800
17	FG8OJ	30	17	510	4x7el	
18	EW7AW	26	19	494	4x11 YU7EF	400
19	W3CJK	22	17	374	2x9H	900
20	UA9YJM	20	18	360	4x10 el H	300

	Callsign	QSO	Mults	Total points	Ant	Pwr
21	UA3TCF	19	14	266	4x9el	400
22	RX6AIA	17	15	255	2x11H	800
23	LZ1DP	16	14	224	4 x 5WL DJ9BV	1000
24	YB2MDU	14	14	196		
25	RA6C	13	11	143	14el DK7ZB	350
26	R5BI	11	12	132	2x10el 3 wl, H	600
27	UA4LCF	11	11	121	2x14H	130
28	UT5IG	11	11	121	2x11H (YU7EF)	500
29	RD3B	12	10	120	11el YU7EF H	800
30	RZ6DD	9	9	81	4x11 Hor	400
31	RU9UB	9	9	81		
32	R9AT	8	9	72	4x11el yagi	200
33	R3KBF	5	6	30	12el. RA6FOO	2xGI-7B
34	UA9CCL	5	5	25	1x11el H	300
35	UA6AH	4	5	20	4x9H YU7EF	150
36	R2GKH	3	4	12	1x(14 el 4,5WI UA9TC)	200
37	G0MTN	3	4	12	2x8el H	400
38	RM5P	3	4	12	2x9el	500
39	UA6LJV	3	4	12	20el	1000
40	R4WR	2	3	6	14el H (RA3LE)	350
41	UT4LA	2	3	6	4 x 6el H	400
42	R6CS	2	3	6	4x15el	1000
43	UR5MY	1	2	2	2x9el H	55
44	UA3MBJ	1	2	2	4x15el	60

GOMTN

Comments: Lots of activity, but my station still needs much optimisation. Great fun though. I went QRT when thunderstorms arrived...

IK2DDR

Comments: Many thanks for organizing this eme contest. Unfortunately i was not active full time, due commitments. Very good activity from Russia. See you next year. Spasibo de IK2DDR, Francesco

RX1AS





5B0EME



R3PA

FG80J



73! VHF Committee of SRR